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1. 20%)
Find the general solutions:

d’y ,dy
a) " —4-&;+53y=0

2
b) x’%+2x%~6y=0

2. 20%})
a) Evaluate the line integral

I xdx — zdy + ydz
C
If C is given by
x=tl,y=—t,z=t}; 1<1<2.
b) Using Green’s theorem to evaluate the line integral
JOF —8y)dc + (2xy+ 8x)dy
C

If C is the circle
x?+y?=1.
3. 20%)

Let f(x,y)=x*+2xp+2)° +6x+4y+4

a) Compute i,@:,i:—{—,a—zf—
o oy ox° Oxdy

b) Find the extreme point and classify it is maximum or minimum.
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4—- Find a solution of P for the matrix equation P A=B where

269 ' 11 0 0.5
': A=|11 0 1 a.nd B= 1
| 01 -1 -05

2"7§Fi1:1d the Fourier series representation of

a). A sawtooth wave f(z) =z, -t <z <,
~ b). A triangular wave

(zj— z, O<z<m
9\z) = -z, —-w<r<O.




